4 REREW

(1) 2BEWHDEIREREH
SH7E S 6 & IR 1B (%)
T RER GER G RER GER| H% RER GEHR G EEHR SEX
2 = #%([1,002 31 1,084 994 21 1,099 8 10 -15] 0.8 476 -14
= =] 163 175 187 205 -24 -30 | -12.8 146
;% n | 345 10 367 288 3 312 57 7 55 19.8 233.3 17.6
= 5t 508 10 542 475 3 517 33 7 25 6.9 2333 48
BHEE(%)| 507 323 500 47.8 143 47.0
(2) EEREBIFEERR
7 700
(N) 3 75
2 .
0 _.==E/ I—] i i i 0
0~2 | 2~4 | 4~6 | 6~8 | 8~10 [10~12[12~14[14~16]16~18|18~20|20~22]22~24
EBREL| 0 1 1 0 2 0 2 1 1 o | ()
—o— (113 6 2 6 49 80 66 63 63 76 61 23 13
(3) EEIMAFELERR
SH7E S 6 & IR 1B (%)
T RER GER G REHR GER| HH RER GEHR G  EEHR SEXK
3 %= & F & 508 10 | 542 475 3 517 33 7 25 6.9/2333 438
BEEEEEEE 1 1 1 1 1 -1 -100.0
gﬁ w74 3 73 56 2 56 18 1 17 321 50.0 304
s O fb 6 6 8 8 -2 -2 -25.0 -25.0
£t 81 4 79 65 2 65 16 2 14 246 100.0 215
BH £ \vEE 9 2 91 100 102 | -10 2 -11]-10.0 -10.8
;{‘E %z sl 36 37 47 47| 11 10 | -23.4 213
#T O b 1 1 2 2 -1 -1 -50.0 -50.0
= & 127 2 129 149 151 -22 2 22| -1438 -14.6
& & = 2 2 2 6 -4 -66.7
B =l 21 1 25 21 21 1 4 19.0
BEgoa om 177 2 201 164 1 187 13 1 14 79 1000 75
E‘EE r B 59 63 49 57 10 6 204 10.5
gk I B 22 23 12 13 10 10 83.3 76.9
o i 16 17 12 16 4 1 33.3 6.3
£t 297 3 331 260 1 300 37 2 31 14.2 200.0 10.3
E-EEEE 3 1 3 1 1 2 1 2 200.0 200.0
ONESFE S S
SM7E S 6 & iR IR (%)
LEEY FEEN GER 4su5Y BER SER|LEEL REHR | GER ss5y BER BEH
X £ & = %1,013 10 | 542 949 3| 517 64 7 25 6.7/2333 438
L] I3 1 3 2 2 1 1 -50.0 50.0
s E 18 22 14 16 4 6 28.6 37.5
g P ¥ &£ 12 13 17 18 -5 -5 -29.4 -27.8
I it 31 38 33 36 -2 2 -6.1 5.6
5 & 4% 35 37 30 33 5 4 16.7 12.1
= # & 267 9 111 232 3 103 35 6 8 15.1 2000 7.8
S5 30| 210 3 52 181 1 50 29 2 2 16.0 200.0 4.0
z o ] 680 1 356| 654 345 26 1 11 4.0 3.2

T OABEHE. F1EFFLE24FH0AE

(5)

AR (1%8) BEHERT—X MR

16 REAXREHET 24 —HTFL 346 : EHSTERSE
Afi: E5HE 5S40 fR1T




